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0 p-value (I+Il vs 1l1)=0.0019
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Years after random assignment
Group Events
Grade | 98 96 93 52 49 45 28 6
Grade I 195 193 184 93 92 82 54 21
Grade Il 49 48 47 23 21 15 11 12
Total 342 337 324 168 162 142 93 39
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0/ PRO_10 in Grade Il
0 p-value=0.0024
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Years after random assignment
Group Events
High 109 107 101 49 49 44 26 18
Low 86 86 83 44 43 38 28 3
Total 195 193 184 93 92 82 54 21
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0 p-value=0.0009
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Years after random assignment
Group Events
High 87 84 77 33 33 28 16 22
Low 65 64 64 35 34 29 17 4
Total 152 148 141 68 67 57 133 26
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20/PRO_10 in all samples

p-value=0.0043
6 1 2 3 4 5 6

Years after random assignment

Events
171 168 161 75 74 64 38 27
171 169 163 93 88 78 55 12
342 337 324 168 162 142 93 39
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00 RISK_25 in all samples
0 p-value=0.0005

o 1 2 3 4 5 6

Years after random assignment

Events
171 168 159 81 78 66 43 30
171 169 165 87 84 76 50 9
342 337 324 168 162 142 93 39



